KCPE 2001 ENGLISH
SECTION B: COMPOSITION

Time: 40 minutes
READ THESE INSTRUCTIONS CAREFULLY

I In the spaces provided above write your full Index Number, your Name and the Name of your School.

2. Nowopen this puper, read the composition subject carefully and write your composition on the Iinu provided.
You have 40 minutes to write your compodﬂon

The foll mple
: g: ollowing is the beginning -of a story. Write and cdmplete the story. Make your story as interesting as you

Although we have been practicin larly for the Gl o p
big disappointment ... g regularly competition since the beginning of the term, the day was 2

Questioms 1 15, SECTION A: LANGUAGE

mmmebetaw !rcmlmwmwlla!imrmbhﬂcmn dmmbﬂmﬁmm
choices given. ! ; )

Ofaﬂth¢plancts1nourwla:syﬁemonlyone.Earth haswater ‘I‘heremtwbmam_.l_whythmu

water on Earth and not on the other planets. Fiist, the appropriate gases that __2  water are present on
Earth. These gases are hydrogen and oxygeén. Secondly, we are 3 the right distance from the sun. If the
Eanh‘_i_domlomcmthcwimhmammdm_,ﬁ_bnﬂ —&__ if it were further away, the
water would all freeze.
: thowth:ommwmongmauyformdmmmmmmg_ﬂ_amymrybmwhatn__L.u
that pearly three-quarters of the surface of the Earth is now covered . 10  water. Some scientists __11 _ that
Earth was once a ball of firc, and as it cooled, _12_ rocks at the centre, which remained __13.. hot, let off
sicamn. This condensed into water as it —14.. into the cold 18, just as steam in a kitcheo condenses into
water droplets on a cold surface. :

1. A. points B. causes C. reasons D. forces
2. A. provide B. _txiaﬁufgcture C. bring D. produce
3, A. about B. just C. nearly D. approximately
4, A were B. became C. is D. be
5. A can B. could C.- would D. might
6. A._ and B. even C. also D. or
7. A. Surely B Really - C. Basically D. - Exagtly
8. A of B. about C. over D. under
9. A. unreal B. certain C. right D. sure
18. A. below ﬁ. in . C. with D. under
11. A. beef B. believe C. beliofs D. belioves
12. A, any B. other C. the D. these
13 AL too ‘B. quite C. so D. very
14. A. escaped B. disappeared C. fed D. ran e



For questions 16 to 18, choose the word . M -means the
opposite of the underlined word,

Example:
My friend plays football very u_ﬂi
A. badly .
B micelv.et
C. stylishly
D. roughly
The answer ls A {bndly)

manner.
A. angry
B. wasin
C. pleasant
D. hostile

17. thsm«rmmttmg thcoﬁ'eme

* 16, Nienga spoke to the suanguin aw.ryfmﬂ]x

18. 1t is probgble that it will rain soon.
B. likely
C. impossible
D. unlikely

For questions 19 1o 21, select the ahemala‘ve !bat mam
the same as the given senlence.

19. ‘Ochieng is coming home tomorrow,’ Kamm said.

A. Kaniui said that Ochieng was coming home the
next day. -

B. Kanini said ‘that ‘Ochieng is coming- home
tomorrow.’

C. Kaaini said that Ochieng is commg home the
next day /

D. Kanini was coming home tomorrow, Dclneng
said. ' :

Katana wished he had gone to school early.

A. Katana hoped to go to school early.

B. Katana did not like going to school late.
C. Katana regretted not going to school early.

D. Katana hoped he had not gone to school late. .

21. No sooner had Wambui fallen asleep than the baby

began screaming.

A. The baby sereamed when: Wambui fell asleep.

B. The baby began scrmmng as soon’ as Wambui
fell asleep.

C. Wambui fell asleep and the baby mpwd

D. Wambui had not really fallen asleep when the

baby screamed.

- For questions 22 and 23, arrange the sentences given to

Jorma mmb!e parapaph.

22, (1) We ace both tall and slender. ‘
. (i) Webothhn.velmghmandbmwneyes.
_(iif): My sister and 1 look alike.
.« {iv) Peaple who see us together always know that we
are sisters.

A (i) (i) @) (v)
-~ B, @) Gv) () (i)
C. (i) @) @v) @)
D.. (i) (iv) (1) G)-

?3 (i) 'I‘hele pupils may begin school cxpecung
nonstop fun.
(h)Whmtbayﬁndoutthatschooltsoﬁeua
routine, they. quickly lose interest.
(idd) - Fmtofaﬂ,mpupﬂnreboredmschoo]
" {iv) Puplhdropoutofl:hoolformanyreasons

A, (i) () G (v)
B, (i) (i) () (v)
L C W @@ -
D () Gil) @) @) -

In questions 24 and 28, choose the correct alternative to fill
the blank space in each of the sentences.

24, The story was not true; Johana had made it

A gp L
B. ouwt . -
C. over
D, off

as

25, After working hard all day, he dozed
soon as he sat down.

out

up

down

of

ooE»






26. It is clear from the second sentence in the passage
that Anaasi and Kling Kling
A. ‘feared each other.
B. - hid from each other.
‘C. had once been friends. :
D. were different types of creatures.

27. How do we know that Ananii wﬁs‘ﬂe‘te;mined to
capture Kling Kling? -

A. HehldtrapsnwthebemesKhngKlmglovcd | M

to eat.
He tried tousemanytypeao{trapsoneaﬂerthe
other,

of time.
He was always thmkmg of new ways to d.eal
! with him.
K
| 28. ‘Bui it was rio use. Thls expression means
b A. it was almost useless.
B B. there was na reason for it
C. he nearly despaired.
D. every altempt failed. *

, From the first paragraph we can conclude that
Kling Kling

A, was too clever for Anansi.

B. had done something wrong.

C. followed Anansi everywhers.

D. considered Anansi rather foolish.

Why did Anansi approach Mz, Tiger forhelp?
A Kling Kling had refused {o pay a fine.

- B. Anapsi was puzzled and angty. :

C. He was a good friend of his..

D. It was probably the only aha'rn,ntive left,

- Anansi proves that

he did not believe in giving free service.

B. he was not really a true friend.

C. Anapsi was serious about capturing Kling
Kling. .

D. Anansi was capable of giving Tiger what he
demanded. _

Which of the following ﬁest explr’ ‘hy Mr. Tiger

~ exclaims ‘a whole cow!™?,

A. He wanted 1o be given less than a whole cow.

B He was excited about eating a whole cow,

€. He was concerned thai Anansi was willing to
pay such 2 price. :

D. He was shocked when he heard the price.

Anansi can be described as
rich but foolish

foolish and desperate
rich but unlucky
desperate and unlucky.

onw >

B.
C. He tried to catch Klmg Kling over a long pcnod .
D.:

The fact that Mr. Tiger asked to be pajd for helplng !

3.1 Kﬁng Kling had not gone io the market; he
A would not have reemed tbc news of Tiger's
.. ‘death’,
B vouldnothavehadanyfoodmhnhqm.
1C. would have thought Tiger was still alive.
D, wuuldhavemmedlnmportmtﬁmeml

'35, "Which of tHs Tollowing Saterienté i et trme about

‘Kling Kling?

. 'He had at least two coats.

He had shoes that could cty.

He dressed specifically for the ‘funeral’.
‘He humedhomeonhcarmg thenews. :

‘pn¢>

Z agrsa!rqowdqumpte means .
-. a multitude.

a mob.

agroup >

a congregation. . . —

ELMWMywﬂmknuxmumwmnmy
questions?
A. He'wanted correct answers.
B. Hewaécnnouandmnous
'C. He was shfocked and puzzled.
D. Heprobsbly doubtad thestory

.?ﬂﬂ??

%umanmuMmmmu
-A. heipful but foolish. .~ = . ..
B. foolich and greedy.
C. great and famous.
‘D. funny but greedy.

"



Wf&fdfavﬁgmem:heﬂmrquﬂlmmmm

Nobody in Maria’s femily. knew. She careftﬂly hid the gifts she received or kept thetn at her friend’s
house. Her friead Rachel took Her to the’ Family Pla.nm:zﬁ;mc to get an injection so that she would not
become pmegnant In exchange for keeping quict about s secret sugar-daddy, Rachel was allowed to
wear the clothes and the jeweﬂery Dan gave Mana Maria lived. for Saturdays. Life went by so slowly during
thewesk. .
~ One evening, Mrs Mungai, Mana s mo;hcr came- home fromi thc hospital looking very dcpressed ‘Aai,
these AIDS babies;” she wailed, as she pushed her food: away, She th 00 appcme “They break my heart.’ . |

"‘What sort of babies? asked her son David, cunounly : ;

‘AIDS babies are babies that are born to die,” Gladys answered. ‘Thmr mothm have AIDS.

“What is AIDS? asked Maria.

‘t's & terrible disease, Maria,” said Mrs. Mungm- ‘It kas no cure.’

‘You mean it’s like chncer?” David asked,

‘Well, it’s only like cancar because & 2 isn’t a cure,’ Mrs. Munga: explained. ‘It starts thh a virus called
HIV. This HIV makes your body we.ker .d weaker, 5o it can’t protect itself from disease any more. Then | i
youeancatchanyd:seaseandd:efro**n,Lmammpledsmsehkeﬂu’ ; |

‘How do you get this HIV? asked Maria. : i

“Well, the most common way of getting it is.by having sex with an infected partner.’ 1

Mariz stopped eating,'She stared at her mother. She suddenly felt verv frightencd.

" ‘We shouldn’t talk about these thmgs at table. I think we should change the subject,’ Mr. Mungai said.

‘No, dear,” protested Mrs Mungai, muchmg her husband’s arm. This is an important subject. Our
children should become ‘aware of it”

. ‘We are already !eammg about HIWAIDS in school,’ said Gladys ‘Mis. Chelimo told us all about it. She
says the most dangerous thing about it is that you can’t tell by looking at someone: lf he or she has got HIV or
not.’ .

Maria stared at her plate in. sﬂence ‘Her face felt very hot. ‘

" *But how do babies get it? David asked. ‘T'mean babies do not have scx!’

‘If a woman has HIV, then the viras is in her blood. She passes it on'to the baby before it is born. Then
the little thing doesn’t have @ chance. It gets ill so easily, and such a baby usually dies before its second
birthday. Another one died today at the hospital. It's so sad.’

Maria was v quiet. She had hardly heard what er mother hadJsaid about ATDS babies. She didn’t feel
like eating anj more. Her stomach felt strange with fear: She and had had sex many times. Did Dan have
HIV? Was she going to die of AIDS? Suddcnly having a sugar-daddy didn’t seem such a grown-up thing any
more.

The thivgs Maria heard that day really shocked hcr.,But she made 8 demmon and she was going to stick
to it; she would have nothing te do with Dan from that day on, She also mmlved to warn all her friends about

the risks uf living a careless sex life.
(Adaptnﬂ from The Yellow Dress by Gladys Ngwenya)






41.

42.

43.

paragraph"

A. Maria kept quiet about Rachel’s secrets

B. Maria always looked forward to Saturdays.
C. Maria had a friend who knew-everything.
D. Manalndaﬂhetgl.ﬂzathﬂ'ﬂiendshmme

What do we learn uhout Rachel from lhe ﬁrst
paragraph? :

A. She was older than Maria.

B. She had no clothes of her own.

C. She knew something about family planning. '

D. She too was HIV positive.

Mrs. Mungai loo_ked very depremd means she was ‘

A. angry

B. disappointed
C, tired

D. cheerless .

Which of the following statements is net true Ebout
HIV according to the passage?

. It weakens the body.

It is found in infected people only

It is a deadly disease.

It makes you catch simple diaem

Uowr

Mr. Mungai did not want the subject of HIWAIDS

discussed at the table because he

A. felt embarrassed about the subject.

B. did not think the subject was important. -

C. he feared he would Ioae his appetite for the
food. :

D. was too tired and lmngry.

According to Mrs. Ch:lnno
EHVmakesapusonlookunﬁtandunhealthy

have AIDS.
apermnﬁnlookpﬂfecﬂyﬁtnndheallhyand
yet have HIV.
peupleWhohaveAlIBhokparfecﬂyﬁland
hcllthy

Which*fth:foliowmgmnbwtrq:lmmmman
as useu in the passage?

A. distributes it.

B. supplies it.

O N w>

_C. givesit.

D. presents it.

Maria had hardly henrdwhathermotherhadsmd
because A
she was wondering if she had the virus.

her stomach felt strange with fear. -

she was worrying about Dan her sugar-daddy.
she fearcd she might already be. pregnant.

gow»

‘you can tell by looking, thatumondoes not

47

From-the ‘questions- Dand asks, we-can conclude
that he i is

; At first, having a sugar-daddy madn Maria feel

. excited

,B. mature

C. lucky
D. rich

Atth:endofrhepmaewueantenthatMana
resolved to

" A. end her relationship with Dan, -

 B." 'Maria becomes frigh

B. end her friendship with Rachel.
C. advise all friends about careless living.
D stick to one boyfriend only.

‘ Wluch of thc foliowmg best summerises the meéssage
' in the passage? :

A. Maria’s secret life..
tened.
C. - Maria’s adventures with fncnds.

‘ D. Marialea.msnlmon.






THE KENYA NATIONAL EXAMINATIONS COUNCIL

 KISWAHILI
SEHEMU YA PILI: INSHA

SOMA MAAGIZO HAYA KWA MAKIN]

Muda: Dakika 4

Kwenye nafasi zilizoachwa hapo juu andika Namba Yako kamili ya mtihani, Jina lako na Jina la Shule yako.

Sasa fungua karatasi hii, soma kichwa cha insha kwa makini na uandike insha yako kwenye nafasi uliyoachiwa.

Insha

Andika insha isiyopungua ukurasa mmoja na nusu juu ya kichwa kifuatacho;

Umeshinda shilingi milloni moja katik: » “czo wa bahati nasibu. Eleza utakavyozitumia pesa hizo.

KISWAHILI

Maswali | mpaka 15.

SEHEMU YA KWANZA: LUGHA

Soma vifugu vifsaiavyo., Via oafasi I mpaks 15, Kna kila nafasi umepewa mafibu manone bapo. Chagus

jibu Hfzalo zald] kuti yi, yale uliyopewa,

Yamkini baudhi ya wanafunzi hawsapendi michezo, ni muhimu kukumbuka kuws michezo _ 1
nanufas mengi sapa kwao, 2 kusema kweli michézo __3 . watoto 4 nzuri ya kujifunza mambo
mengi. Fili, michezo husaidia viungo vyote mwilini kuwa jmara na _8 _ afya. Pia akili hufanya kazi _6
zuidi buada ya kupumzika wakati wa michezo, Isitoshe, michezo huwawezesha wunalunz kujuans,
kupendani, kuswiliana na __7 . Moyo huo wa udugu _ 8  msingi wa tailu lenye umoja.

1. A zina B. unz C. yamu :
2. A Amu B. AU C. Bila

3. A huwapua B. hupata C. huwapsa
4. A rmhusa B. [lursa C. ayakati
5. A, vyenye B. zenye C. yenye

¢ A jona B. vyema C. mwema
7. A kushukinz B. hushukiwa C. hushikians
8. A udio B. ndiyo C. ndiye

3 1
D.

D.

D.

B 8O

ina
Wala
huwapasha
radhi

i.
wenye
Wweld
kushirikiana

ndiwe

Dhuna yu yhiladhi wa mazingira sio _9__ kwetu sisi Waalrika hata kidogo. Tangu _10  tulikuwa
tkipanda ca _81_ miti ya kila aion kwa matumizi tofauti kama vile dawa, kivuli, chakuls na _12

Shughuli bii ni _ 33 _14  wanadamu __15_ dunisai.

9. A geni B. ngeni C. mgeni .
10. A wukat Sl C. jadi
1. A. kukuza B. kukua C. kukuza
1Z. A. nyiugi B. mengi C. mengineyo
13. A bidi H. wajibu C. nia

14. A, zen B. zenu C. leu

g 9 9D

ugeni

jana

kukuzwu

nyinginezo

muhimu

weln



16.

17.

18.

19;

20.

21,

22,

Kutoka swali la 16 mpaka 30, chagua jibu lililo
sahihi,

Aksami hii ¥/s huitwa
A. khumusi tano

B, khumusi nne

C. robo tano

D. thuluthi nne.

Nilinyeshewa nikalowa maji
A. chubwi

B. Chakari

C. Chepechepe

D. Chururu

Kutokana na jina mlio tunapata kitenzi
A. mlia

B. mlizi

C. kilio

D. lia

Mablanketi ishirini pamoja huitwa
mablanketi.

A. korija

B. darzeni

C. bunda

D. jozi

moja ya

Panga vifungu vifuatavyo ili vilete maana moja
kamili

(i) alipelekwa hospitali
(ii) wala hatukufahamu
(iii) aliugua nini

(iv) hatukuelezwa kuwa
A (i) (iv) () Gi) - -
B. (i} (iv) (iii) ii)

C. 4iv) (i) (ii) (iii)

D. (i) (v) Gii) ()

Maana ya ‘ungalifika ungaliniona’ ni
A, ulifi'  lakini hukuniona

B. hukufika na hukuniona

C. hukufika ila uliniona

D. ulifika na uliniona.

Katika kamusi maneno hupangwa kulingana na ab-

jadi yaeni a, b, ¢, d, ¢ na kuendelea. Ni

orodha ipi ya maneno iliyopangwa vizuri?

A. Kionjamchuzi, Kipaimara, Kipandikizo,
Kipimajoto,

B. Mamlaka, Mamia, Maliwazo, Mandhari,

C. Somo, Sononeka, Shamrashamra, Staftahi.

D. Urafiki, Uwaziri, Uvumbuzi, Uraia.

23. Chagua msemo wa taarifa ufaao wa sentensﬂi
‘Njoo haraka twende sokoni,” alimhimiza.

Mama alimhimiza ‘twende sokoni haraka.’
Mama alimhimiza amfuate haraka waende
sokoni.

TOm>

24. Ni kiunganishi kipi kilicho sahihi?
Mwalimu alishindwa kulijibu hilo swali
mimi?

A. bali =
B. wala
C. sembuse
D. licha.

25. Giza lilitowcha kukaanza kuwa
kukapendeza. '
A. kweupe
B. peupe
C. weupe
D. mweupe

26. Mtoto wa ndege anaitwa
A. kifaranga
B. kimatu
C. kiweto
D. kinda

27. Chagua sentensi ilivo sahihi kisafei.
A. Habari ambayo zillitufikia zilitushangaza.
B. Habari ambazo zilitufikia zilitushangaza,
C. Habari ambazo zilizotufikia zilitushangaa.
D. Hahari ambao ilitufikia ilitushangaza.

28. Maana ya ‘tuliimbiana’ ni
A. aliniimba nami nikamuimba
B. aliimba nami nikaimba
C. Aliniimbia nami nikamwimbia
D. Aliwaimba nami nikawaimba.

29. Onyesha sentensi iliyo na ki ya-masharti
A. Nilikuwa nikienda sokonj alipowasili.
B. Anatembea kivivu.
C. Kile kitoto ni cha nani?
D. Nikimwona nitamslimu.

30. Chagua sentensi iliyopangwa vizuri zaidi.
Wewe utakuja kwetu siku gani?
Siku gani kwetu wewe utakuja?
Kwetu siku gani utakuja wewe?
Wewe kwetu siku gani utakuja?

oDOw»

Mama alimhimiza kuwa, ‘njoo twende sokoni’
Mama alimhimiza aje haraka twende sokoni.



Soma habari ifustayo kisha ujibu maswali 41 mpaka$8. -~ —— —— ~—

Baada ya uburu, Kenva ilihitaji knikweza lugha moja ya kiasili kuwa lugha ya taifa. Wakenya hawakuiaka
kuitumia lugha ya Kiingereza kama lugha ya taifa. Hii ilionekana kuwa lugha ya kikoloni na kigeni. Hali ya kuwepo
lugha nyingi nchini ilitatiza uchaguzi wa lugha moja. Kila kabila lilitarajia lugha yake kuchaguliwa, jambo ambalo
lilikuwa gumu. Kuchagua Kiingereza hakungéfaa kwani, mbali na wasomi raia wengi hawakukijua. Hata sasa
wananchi wengi bado hawajakimudu.

Serikali ilishughulikia swala hili la uteuzi. Hatimaye, Kiswahili kilitunukiwa hadhi ya kuchaguliwa. Kama e
lugha ya taifa, Kiswahili hutumika katika maongezi ya kawaida, mawasiliano ya kibiashara ne kadhalika. Kiswahili
kilichaguliwa kwa sababu kadhaa. Kwanza, baadhi ya wasomi walifikiri kwamba lugha hii ilikuwa na asili ya
Kiarabu, Kwa sababu hii walifikiria kuwa Kiswahili hakikuwa lughs ya kabila lolote, Pili, wengine waliamini
kwamba Kiswahili ni mchanganyiko wa lugha ya Kiarabu na lugha za Kiafrika. Hivyo kingekubaliwa na makabila
yote. Hata hivyo wasomi wengine walishikilia kuwa hii ilikuwa ni Jugha ya Kiafrike asilia bila mchanganyiko
w0 wote.

Hivi leo h_gl_._ggﬂb_iﬂ]j_ug_ms_kuhusu asili ya Kiswahili. Hii ina maana kuwa Kiswahili kil;neknba!ika
kama lugha ya kiasili Afrika Mashariki. Pia ni kitambulisho cha utaifa wa nchi kama Kenya na Tanzania. Isitoshe,
Kiswahili ni jugha mojawapo va lugha za taifa nchini Congo, Rwanda na Burundi.

41. Nini haga kilichotatiza uchaguzi wa lugha ya taifa?

s jogha 46. Uli habari hil ulipata j - :
A. Wakenya walijua lugha nyingi tofauti. iposoma habari hii ulipata jumia ya maoni mangapi

juu ya asili ya Kiswahili? -«

B.Hakukuwa nma lugha maalum ya kiasili A et
ambayo ingechaguliwa. B. 4
C. Makabila na lugha nyingi nchini Kenya. e S b
D. Wakenya hawakuiaka kuchagua lugha ya & A
kikoloni. ; ; 7
42. Kwa nini haingefaa kuchagua Kiingereza? 4‘7- rl:‘a?;:;k')g neno hadhi kama lilivyotumika
A. Tlikuwa lugha ya wasomi na raia. o 5 A"h’esh‘imngu ni
B. Ilionekana lugha ngumu isiyoweza kueleweka. . pa
C. Siwatu wengi walioweza kukiongea. - g zawadi
D. Wenyeji walichukia wageni na lugha yao. 5 Egﬂoﬂ;mfu

43, Kulingana na taarifa lugha ya taifa hutumika vipi

hint Kenya? . 48. Lugha ya taifa nchini ni muhimu kwa kuwa
nchini a7

: g : . A, hutumika na watu wengi
- H | »
A. Katika mawasiliano ya siasa na shughuli rasm B. inapendwa na wananchi wote

B. Katika mawasiliano ya kawaide, biashara, siasa €. huigarisha emani na nchi jirani

M Whiniiai v, st st D. o Bambulisho cha utaifa,
C. Katika maongezi ya kawaida na dimd,

D. Katika maongezi na mawasiliano ya serikali. 49. Maans ya m%iiwni
A. jombo la knjadilang

44 Kwa nini Kiswahili kilichaguliwa hatimaye B. ‘hakuna pingamizi s0zote
kuwa lugha ya taifa? : C. jambo lisilo wazi
A. Kwa sababy uamuzi fwo ulitolewa na D. hakuna kuafikiana tena.
wasomi.
.B. Kwa s;ababu kilifikiriwa tu kuwa ni fugha ya §0. Kiswahili ni lugha mojawapo ya lugha za taifa
Kiarabu. R : inamaanisha
C. Kwa sababu kilitumika kwingi barani A. ni lugha ya kimataifa
Afrika. ! 3 ] B. ni lugha ya kiasili
D. Kwa sababu kilifikiriwa kuwa si lugha ya kundi |, C: kuna lugha zingine za taifa
lolote. D. ndiyo lugha pekee ya taifa.
45, Maana ya neno hatimaye ni
A. baadaye
B. aghalabu
C. tena
D. mwanzoni 40

e es ~mmmwanT ninbno






_Soma kifungu-kifuatacho kisha wjibu maswali31 mpaka 40—+

Mwisho wa mwaka wa 1999 ulishangiliwa na kila mt, i
\ Aw . . u kwa uwezo wake. Jamii mbalimbali zili
:?f:.:‘::t’:‘:i; amn:ﬂf; I:‘gndclao. l;g o?bo na kadhalika, Wale ambao hawakuwa na uwezo fuo wn:,ij:i;:s::;:heMker:dl :
. . Vigelegele, nderemo na shangwe kote! Vijana walirusha baruti angani ilhali i
: \ ali wach
walicheza densi na nyimbo 22 kitamaduni. Wakristo nao walishangilia kwa maombi mamisani huku W?i?liamu

wikitoa shukrani zao kwa Allah misikitini.

Katika shangwe hizi zote watu wengine walijawa na h ingi i
‘ ; . : ] ofu nyingi moyoni. Je, tarehe moj k
ingekuwa siku ya aina gani? Baadhi yao-walidhani ingekuwa mwisho wa dunia! Wapo, bila ?h?::funﬁ:feg;ﬁfsiku

huo ili mwisho wa dunia usiwafikie wakiwa usingizini.

5 r

Miezi kadhaa, kabla ya mwisho wa mwaka, ilitan ishy : .

: bla y gazwa kuwa mwisho wa kaj iti

lr_mampo ya kompyuta, Plg, ilitangazwa kwamba shughuli zote zimaomdeshwnwl:wu :lnt:r:ll.‘:lgzle\x mfuul:wenyc
zingesimama. Je, shughuli za benki? Wateja wa benki walitsharuki na wengi wakatoa pesa zao kwen pzc i'
kuzitafutia mahali pengine pa kuzihifadhi. Pengine baadhi yao walizika pesa zao ili kuzinusuru na wg:gin: "

wakazishonea ndani ya matandiko. Lakini
2 g0 Navwas a nazo hata habari walj

18 vana.

wasiwasl huu uliwapata tu waliokuwa na akiba kwenye benki. Wale

Mara nyingi watu hujiti T g Sy 3 .' R
T jitia wasiwasi wa buze, wasiwasj usio na msingi. Pengine haya yote ni hali ya

31. Mwisho wa mwaka wa 1999 ulishangiliwa
A. kwa kuchinja ng'ombe, kondoo na kuku
B. kwa kuchinja kulingana na uwezo wa mty binafsi
C. kwa kuchinja mbuzi na kuku
D, kwa jamii mbalimbali kuchinja ng’ombe,
. [ 3
32. Kwa nini kulikuwa na vigelegele na shangwe kote?
A, Kwa sababu ya kurusha baruti angani,
. B, Kwa sababu ya kuukaribisha mwake mpya.
C. Kwa sababw ya maombi makanisani na
misikitini.
D. Kwa sababu ya densi na ngoma za kiasili.

33. Ni wazo gani lililowajaza watu hofu moyoni?

A. Kwamba mwisho wa dunia wangekuwa bado
usingizini.

B. Kwamba tarche moja wangekuwa wakikesha
usiku,

C. Kwamba katika shangwe hizi mwisho wa dunia
ungefika.

D. Kwamba tarehe moja ingekuwa mwisho wa
dunia.

34, Hitilafu kwenye mitambo ya kompyuta -
A. ingesimamisha kuendeshwa kwa utaratibu wd
kompyuta
., B. ilitangazwa gpwisho wa kame kwenye
mitambo ya kompyuta
C. ingesimamishe shughuli zote zinazohusika na

kompyut® - o

D. ilitangaza shughuli zilizoendeshwa kwa
utaratibu. iy o

) r

35, Baadhi ya wateja wa benki
A. walitoa pesa benki na kuzihifadhi kwingine.

B. walitoa pesa benkina kujishonea matandiko

yao.
C. walitoa pesa na kuzihifadhi kwa wengine.
D. walitoa pesa ne haijulikani kama walizizika.

36. Walitahatuki ina maana . -
. waliingiwa na hofu

. walipigwa na butwaa

. walijawa na furaha

. waliingiwa ne hasira.

37, Kulingana na habari hii maana ya kuzinusugy ni
A. kuzishonea
B. kuziokoa
C. kuzizika
D. kuzitoa.

oow>»

13 Sentensi ‘wale ambao hawakuwa nazo, hata habari
walikuwa hawana' ina maana kuwa :
A, wale ambao hawakuwa na pesd benki

hawakujua kungekuwa ne sherehe. '

'B. wale smbao hawakuws na pesa benki

hawakuwa na kompyuta. '

" ¢. wale ampao hawekuwa na pesa benki

hawakujua kuwa mitambo ya kompyuta

wama.

D. 1::;Isl:karnbao hawakuwa na pesa benki

kompyuta zad hazingekwama,

39, “Visiwasi usio na msingi’ 0i -
A, wasiwasi.usio na sababul
B. -wasiwasl wa mwisho wagawaka
. C. wasiwasi wa hali ya kibinadamu
D. wasiwasi wa u.km_ijixqgé@u benki.

49, Kichwa kinachofaa zdidi kwa habari hii ni
A. vigelegole, nderema na shangwe
8. hitilafu ya beaki nz kompyuia
C. mabadiliko ya kame mpya
D. sherehe za mwisho wa kare.
1






11. A triangnlar plot measuring 7-5 metres by 12:5-

12,

13.

14,

—_—— ey

KEPE 2001

metres by 15 metres is to be fenced.

If the posts are to be 2:5 metres apart, how many.
posts are needed?

A 35

B. 17

€3 I

D. 14

How many bricks are used to make the pile shown
in the diagram below?

Vo s
o e e

amount was paid in 5 equal monthly iostalments. He
paid a total of sh. 9200.

How much was each monthly instalment?
A. sh. 2240
B. sh. 1840
C. sh. 1440
D. sh. 400

What is the value of
0-48x0-0135
0-016
40-5

405
0-403
0-04035

?

A
B.
C.
D.

17.

~15. in the figure below, lines PQ aad RS are pacallel.
Lines EJF and EHG are straight. Lines EJ and EH
are equal. Angle FHJ =35° and angle HGS = 130°
E
el 7/\11 . 6
: -
R ~ri
F ; [E
What is the size of angle JFH?
A. 80°
B. S0°
- C. a5
D. 15°
16. The charges for sending an inland telegram were as

follows:

The first 10 words or part thereof sh. 10.
All extra words sh. 1 each.
A commission of 15% oo the total was charged.

What was the cost of sending the following
telegram?

GAD KILOVI BOX 200 MALABA COME
NAKURU URGENTLY NEKESA

A. sh. 12:65

B. sh. 11-50

C. ‘sh. 1035

D. sh. 10

There were 210 blue cars, 168 red cars, 336 white
cars and 126 yeflow cars in a car park.

Il a piechart was drawn to represent this

" information, what angle would represent the yellow

18.

cars?

A, %0
B. 54°
| TR
D. 144°

Musa, Tom and Sam scored goals for their team
during a football match. Musa scored o goals while
Sam scored twice as many goals as Musa. Tom
scored two goals less than Sam. '

What was their total score?
A 5n .2 :

B. Zn-2

C. In-2

D. 3n+2



19.

21,

What is the square root of 717
A 21
) R %
s
D 73
The figure below shows a net made up of a square
andfourequﬂmdui‘anﬂu

T T

~
'.l

Which onc of the lollowing solids can be formed
from this net?

A Square prism

B. Trangulsr priem

C. Square pyramid

D. Triangular pyramid

Flour is packed in 2-5 kg packets. If the weight of
flour in the packets is increased by 25%, what would
be the new weight of the packec?

A ¥I5kg

B. 2kg

C. 1875kg

D. 0625 kg

Winiis the wlac.of, St i o £506%1 and
s=r+21 9

A S5

onNnE
- N
o -

Moki had 190 fifty shilling-notes, He changed sh.
6000 into on¢ thousand shilling-notes and the rem
into five hundred shilling-notes.

How many five hamdred shilling-notes did he ger?
A. 9500 '

B 19

C. 3500

D. 7

|

24.

On a map drawn Lo the scale 1:500 is a plot of land
in the shape of a trapezium whose parallel sides
measure 5 ¢m and 2 cm. The perpendicular distance
between the parallel sides is 4 cm.

What is the actual area of the plot in square metres?
A 35000

B. 3500
. 350
D. 35

Three factories Buka, Sakono and Rama produce
sugar in one hundred kilogramme bags daily. Buka
produces three times as much as Rama. Sakono

* produced two times as much as Rama.

If Sakono produces 500 bags, how many tonnes
altogether do the three factories produce daily”
A 50

DA TS
o 13
D. 300

A dealer paid sh. 15000 to an agent as commission
for the sale of a car. The commission was 2% of the
price.

How much money did the dealer remain with from
the sale of the car?

A. sh. 1470000

B. sh. 765000

C. sh. 750000

D. sh. 735000

Which onc of the following diagrams shows arcs
that lead to the construction of 2 perpendicular from
point P to line XY?

VP P
X : e | : Ty
X
e
A. B
P P
e i
X Y T Y
JK e
A D.



28. Asha deposited sh. 4800 in a bank which paid-

31.

A

figure below is made up of two semi-circles
joined by straight lines.

k-]

3cm 3-5cm 4cm

What is the perimeter oF the figure?”
(Take n= %)

A 18 cm

B. 2Z2Zcem

C. 29an
D. Slcm

Which one of the following expressions is the simple
form of

2a +2b)+3 —4b o

4Ib-2)-So+4a

B.

P owiv o|m

&

¥
i
&g

- b+

A rec' agular tank s filled with 6 000 litres of water.
The oase area of the tank is 30000 square
centimetres. What is the height of the tank in
metres?

A 02

B. 2
cC. 20
D. 200

32, Inevar graph below shows the number of eggs sold

by Mutiso in six days. The highest number of eggs
sold was 75.

T L 4 .
QO-E—HH;H“!;:F-.: 15 {41 by m
pRel [Eag ey e AES - BEEEN
[ Lirs L i
i e A
q 7 sigiiine. .
= 70 L I ‘]4
S i
§ O H :
o ERE m LI
w 50...1;.,_. ] "l
o]
m 1
B w T
10
4 SAT

MON TUE WED THUR FRI
DAYS

In which three consecutive days was the total
number of eggs sold the highest?

A. Tue, Wed, Thur

B. Mon, Tue, Wed

C. Thur, Fri, Sat

D, Wed, Thur, Fri

Ali paid sh. 3700 for a radio after getting a discount
of 74%. How much more would he bave paid had
he been given a discount of 5%?

A sh 100

B. sh. 200

C. sh. 3800

D. sh. 4000

A factory hired 48 labourers to complete 2 job in 24
hours. If 12 labourers failed to turmn up for the job,
how many more hours did those who turned up take
!:‘ouuphhmjoh?

3

C.

R
. 48
Dﬁn



3s.

3

2

Triangle ABC, shown below, has been drawn
accurately. :

A

B L&

What is the size of angle CAB?
AW

B &

. ™

D. 101°

Maria sat for ten subjects in an ¢xamination. Her
marks in nine subjecis, excluding science, was as
follows:

Mathematics 78, Kiswahili 81, GHC 77, Religious
Education 69, English 73, Arz and Craft &0,
Agriculture 52, Business Education 60, and Home
Science §5.

If ber total marks in the ten subjects was 680, what
was her median mark?

A. &

B. &8

C.-N

D35

Atieno bought 2 kg meat @ sh. 135, | kg sugar for
sh. 48, 3 kg rice @ sh. 42 and 1 kg salt for sh. 12,
She paid for the items with a sh. 500 note,

What balanee did she get?
A. sh. 456
B. sh. 263
C. %
D. sh. 4

A closed cylindrical tank has a radius of 1-05 m and
a height of 2 m. What is the surface arca of the

ank?

(Take k= <)
A, 2013 m?
B. 16665 m?
C. 132m!
D. 693m?

39.

49.

41.

In the figure below EFGH is a rhombus. Angle
BFO = 26°,

E H

Y

L l

asin kil G

What is the size of angle OGH?
A. 128° 5
B. 64°

L5 b

Bl 35

The table below shows the rates for sending letiers
and post cards through a post office in 1998,

Type of Article Weight Charge
shs. cts.

Letters Notover 20 g 14 - 00
(Limit of 5 S0g 17 - 00
weight 2 kg) . 10Gg 13 - 00
el 28 - 00

o S00g 46 - 00

» 1kg 75 - 00

= 2kg! 110 00

Post cards Each 12 - 00

Amina sent the following letters and post cards:

Three letters each weighing 49g
One letler weighing 150 g
Five letters each weighing 800 g
One letter weighing 1-5kg
Two post cards

How much did she pay for the postage?
A. sh. 599

B. sh. 583

C. sh. 564

D. sh. 242

Kantai bought 200 chicken whose average weight
was 1'5 kg. The buying price per kilogram was sh.
150. He then sold each chicken for sh. 250,

Wﬁat perceniage profit; .10 the nearcst whale

¢

;

number, did he make? '

A, 10% '.’ } i
B. 1% i
C. 6T% i)
D. 90%



42. Below is part of the construction of 8 trapezium
PQRS. Complkte the construction such that angle
POR = 56°, :

]

P p- Q

What is the length of the side RS?
A. 80cm
B. 73cm
C. 45am
D. 35cm

43. In a school, one bell rings after every 30 minutes
while the other rings after every 35 minutes. If the
two bells rang together at 8.15 a.m.,-at what time
did they ring together next?

A, 1145am.
B. 330 am.
C. 920am.
D. 145am.

44, A circular tank of radius 1-4 metres and height 2
metres is full of water, How much water, in litres, is
in the tank?

(Take n= 2)
A. 17600
B 12320
C 6160
D. 1232

45. A plot of land is in the shape of a right angled
wriangle. The length of the longest side measures 26
melres while one of the shorter sides mesasures
10 metres, What is the area of the piot in square
métres?

Al 60
B. 120
€. 130
D. 240

46, In a function, the number of women was twice that
of men. The number of children was half the total
number of men and women. The function was
attended by 270 people. How many children
attended the function?

A. 90 :

B. 120

C. 180

D 6

47, The diagram below is an incomplete parallellogram
PQRS. Completc the parallelogram and draw

diagonals QS-and PR to inlersect at T.
P
Q R

What is the size of angle PTQ?

A 3R

B. 4%

C. 106°

DR

48. A car travelling from town A to town B at an
average speed of 80 kmvh took 54 minutes. Another
car took 40 minutes to travel the same distance.
What was the difference in their speeds in km/h?
A 8
B 28
€36
D. 108

49, The incomplete table below shows the pumbers of
people who attended a [ootball match and the gate
charges. The number of children is not shown.

Ne. of peopic | Gate charges
in ksh.
Children -~ 3
Studeats 600 20
Female Adults 440 50
Male Adults 500 50

Il the total amount collected was ksh. 60 000, how

A
B. 1000
C. 1540
D. 1740

many people aitogether attended the match?
200



50. The graph below shows journeys of two cyclists, Wimbua and Otier:o.
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" SAULFNOTIA NI HONYISIQ

TIME

At what time was Otieno 10 km ahead of Wambua?

A 1030am
B. 927am.
C. 900 am.
D. 7.12am
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1. The diagram below represents a person warming

himselfl by the fire. :
Which oue of the following shows how the heat
reaches the hands and the feet?
Hands Feet
A. Convection Radiation
B. Radiation Conduction
C. Conducticn Convection
D. Radiation Convection.
2. In a geothermal power station steam is led through
pipes to generate a form of energy which enables
people to see. The energy transformations involved
are
A. chemical — electrical — mechanical — heat —
light

B. hcat — mechanjcal — electrical - heat — light

C. heat — chemical — mechanicai — light —
eiectrical

D. chemical — electrical — mechanical — hight —
beat.

3. Which one of the following occurs when rays of
light pass from air into water?

A. Reflection.
B. Dispersion.
. Refraction,
D. Absorption.
4, Which onc of the following factors DOES NOT

affect how high or low sound produced by a stringed
instrument is?

A. Length of the string.

B. Thickness of the string.

C. Tightness of the string.

D. Force used to pluck the string,

Which one of the fallowing is NOT a characteristic
of sceds dispersed by wind? They are

A. light

B. hooked
C. winged
D. desthery.

§a

~—SCIENGE

In which one of the following circuits would the
bulb light brightest?

A pupil standing in front of a mirror observed the
image of a clock on the wall behind him, The image
of the clock appeared as shown in the diagre .
below. .

Which one of the following diagrams represents the
real time on the clock?

L0090

Which one of the following has ALL the conditions
necgssary for germination of seeds?

. Soil, air, water.

Air, warmth, water.

Warmth, light, soil.

Water, warmth, light.

gaOwy



9.

I,

“The-diagram below shows paris of a flower. W |

Which parts are represented by X, Y and Z?

X Y z
A. Anther Style Sepal
B. Stigma  Filament Petal.
C. Aather Filament Sepal.
D. Stigma  Style Petal.

Which one of the following insects DOES NOT
undergo the stages of egg, larva, pupa and adult in

its life cycle? s
A. Housefly.
B. Mosquito.
C. Bee.
D. Locust.
The chart below shows classification of some animals.
Animals
f : =
Carnivores Herbivores
R,
Strong curved  Short . Complete Split
claws claws hoof hoc”
I 1 I ;
Hawk Kingfisher Zebra Cow

Which of the following were used in the
classification?

A. Body covering and food eaten.

B. Food eaten and type of feet.

€. Body covering and type of foet.

D. Number of legs and type of movement.

- Which one of the following amimals is NOT a

é

. Hippopotamus.
Bat.

Whale.

Shark.

oD

113,

14.

The following are functions of roots:

() holding plants firmly in the soil

(ii) storage of food

(iii) absorption of water and minecal saits

(iv) breathing. :

Which of the functions are performed by all roots?
A, (i) Gi).

B. (i) (iv).

C. (i) ().

D. (iii) (iv).

Which one of the following features would help a
pupil tell that a plant structure is a fruit?

" A. Being fleshy.

15.

16.

B. Presence of two scars.
C. Having one cotyledon.
D. Having a line of weakness.

Which one of the following is NOT a function of the

placenta?

A. Allows passage of dissolved food materials to
the emibryo.

B. Allows exchange of gases between embryc and
mother. -

C. Prevents harmful materials from reaching the
embryo.

D. Protects the embryo from shock,

The set up below was used lo investigate a certain
process in plants. N







17.

18.

19.

The diagram below repsesents 2 model that can be -
used to demonstrate breathing in human beings.

e

X

The part lubelled X represents
A. chest

B. luags

C. nibs

D. diaphragm.

Which one of the following statements is NOT
TRUE about ALL arieries?

A. They carry blood away from the heart.

B. They have thick walls, 3

C. Blood pressure in them is high.

D. They carry blood rich in oxygen.

The following characteristics are observed in wind
and insect pollinated flowers:

(i) sticky stigma

(i) smooth pollen grains

(i) sticky pollen grains

{iv) scented

(v) large quantity of pollen grains.

‘Which of the characteristics are for insect pollinated
flowers?

A. (), Gii), Gv).

B. (i), (). (iv).

C. (i), (v). (v). 4

D. (i), G, (v).

. \
Digestion of food DOES NOT take pluce in the
A. mouth
B. large intestines
C. stomach
D. small intestines.

-
=

| -21. A fmnel was tightly fixed onto the mouth of 3
bottle using plasticine, Water was then poured into
the funncl. The set up is shown in the diagram
below.

Funnel
Water

Plasticine

Which one of the following will make the water
flew into the bottle smoothly?

A. Making a hole in the plasticine.

B. Shaking the bottle.

C. Stirring the water in the funnel,

D. Adding more water 1o the funnel.

22, The diagrams below show set ups that were used to
investigatc the conditions necessary for rusting,

ks Nails.
coated
with oil

Afier a few days rusting occurred in
A. Pand 8
B. Qand R
C. Pand R
D. Pand S




23.

25.

26.

'

27.

A small amount of water was pul in 3 {in can and

heated to boiling. The tin can was then closed tightly
and left to cool. The experiment was to demonstrate
that air %

A. occupies space

B. exerts pressure

C. has weight

D. contracts on cooling.

Liquid X is denser than liquid Y. Liquid X is less
dense than liquid Z. The three liquids do not mix,
Which one of the diagrams below correctly
represents what will be observed when equal
amounts of the three liguids are put in a glass jar?

Which two components make about 78% of the
volume of air?

A. Oxygen and carbon dioxide.

B. Nitrogen and oxygen.

C. Carbon dioxide and nitrogen.

D. Rare gases and nitrogen.

A certain indicator obtained from a flower turned
pink when mixed with a few drops of clover extract.
Which one of the following materials would have
similar results when mixed with the indicator?

A.. Chalk powder.

B. Lemon juice.

C. Wood ash.

D. Baking powder.

Force is measured in

A. grams

B. gram per cubic cenlimctre
€. cubic centimetres

D. Newtons.

—28. Which one of the following factors DOES NOT

affect the rate of evaporation of a liquid?
A. Amount of kiquid. ¢

29, Which one of the following matcrials is magneti

A. Copper.

B. Brass.

C. Steel

D. Aluminium.

30. In an experiment, a burning candle was fixed onto

plate and some water added to the plate. A glass ja
was then inverted over the burning candle. The s
up is shown in-the dingram below.

Glass jar

/ Bumning candle
Platc
Water

Ry
|

Which one of the following would eventually

happen?

A. Amount of air inside the jar will increase.

B. Amount of carbon dioxide inside the jar will
decrease. :

C. Pressurc in the jar will increase.

D. Water will enter the jar.

31. Which one of the following mixtures czmmot be

separated by dissolving, fillering and evaporating?
A. Sand and sugar.

B. Maize flour and sugar.

C. Chalk powder and salt.

D. Salt and sugar.






32. The diagram below represents a simple machine in | 5. The diagram below shows st arrangement of pulleys
" use. used to hift a load.

The purpose of pt;lley S is to reduce the

The load is represented by A, effort required to raise the load

A W B. weight of the load

B. X C. distance the load moves

. X D. distance eifort moves.

D Z : ;

36. The diagram below shows an improvised set up tea

33, A stairease is an example of a simple machine called was used to drop a box from a tall building,

A. a wedge

B. an inclined plane

C. ascrew Cloth

D. alever.

34. Turee identical containers P, Q and R containing
water were balanced on a beam as shown in the

diagram below.

:—‘: 4 4 ©  The speed at which the box drops could be reduced
by
A

reducing the length of the ropes

Which one of the following statements is correct? ; il
A. Q and R each contain half as much water as P. ° B. makmg small holes in the cloth
B. P contains thrée times the amount of water in Q@ §¢ C. increasing the surface area of the cloth
and R D. using hight cloth.
C. Q and R contair twicc as much water as P. - . ; ;
D. P, ¢ .nd R contain the same amount of water. 37. A pupil immersed a small container filled with soil
{ : into a basin of water. Bubbles were observed. Which

one of the following explains the observation made?
‘A, Soil reacts with water.

B." Waler contains air..

C. Soil contains air.

D. Small animalis in the soil produce air.

38. Which one of the- following levers ‘has {he same
positions of load, effort and fulgrum as a
wheclbarrow? "

A. Pair of scissors.
B. Nuicracker
C. Fishing rod.
D. Crowbar,




:‘9'

41,

42,

The following are activities carried -out-when one-is -

making a chisel from a nail:
(i) sharpening the edge

{it) flattening the pointed end
(1ii) cutting off the tip.

The correct order of the activities above should be
A, (i), (), (i)
B. (), (i), (i)
C. (i), (i), (i)
D. (i), (). (iii).

Which one of the following will NOT cause a
reduction in the number of animals in a game
rescrve?

A. Burning charcoal.

B.. Constructing a railway line through the reserve.
C. Fencing using electric wire,

D. Operating a quarry.

Which one of the following would help to conserve

the environment?

A. Burning heaps of sawdust.

B. Burying plastics in the soil.

C. Using wood ash to kill pests.

D. Using commercial feriilisers to increase crop
yield.

Which one of the following would least pollute the
environment?

A. Gases from factories.

B. Exhaust gases from vehicles.

C. Smcke from burning charcoal.

D. Rotting plant and animal matter.

The diagram Lelow shows some positions of the
moon as it goes around the earth.
o Qi
2 Earth
Sun |~ P ({ R
S

il hY
Full moen is cbserved at position
AP
B Q
C. B
B. 8 t o
thchuneﬂl’lkfﬂ!lbwmspmrsof;ﬂu&mnsﬂsm
of @ planect thist takes the longest time and a planet
that {gkes the shortest time to go around the #ain?
A ﬂm 4
8. and Mercury.
 of mmam
D. Venus ond MNeptune.
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The diagram below shows an improvised weather
instrument.

— Funnel

p— Container

— Collecting jar

Which ope of the following DOES NOT affect the

accuracy of the instrument?

A. The diameter of the funnel.

B. ' The diameter of the collecting jar.

. The distance between the markings on the
collecting jar.

D. The material used to make the container.

Which onc of the following is NOT drug abuse?
A. Taking prescribed drugs for a long time.

" B. Taking an overdose of a prescribed drug.

47.

~C. Using the drug for a wrong sickness.

D. Taking less of the prescribed drug.

Which one of the following is NOT an effect of
abusing alcohol?

A. Loss of memory.

B. Seocial and family problems.

'C. Hallucinations. oy

D. Poor bealth.

Drugs taken to treat diseases are known as
A. curative

B. stimulants

C. preventive

D. pain relievers,



49.Agmupofpupihwaniedtompuefheraﬁat
which water rises up in soils. They set up their
‘apparatus as shown in the diagram below.

From the results obtained by the pupils the correct
conclusion could mot be made because pupils

A. placed both tubes in the same basin

B. used identical biro tubes

C. used equal amounts of soil in both biro tubes
D. uscd same type of soil.

50. The diagram below represents a sét up that can be.
used to investigate a certain component of soil. -

[ ¥}——— Sheet of glass

Tin with soil

Heat

component being investigated is
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Study the map of Kaka area and amswer guestions 1 fo 7.

1.

3

What is the approximate length of the tarmac road
from the junction at Kaka town to the sawmill near
river Kayo?

A. 6km

B. 8lm

C. 10km

D. 13 km.

Members of the public found a person breaking inte
a shop in Kaka town. The correct action for them to
take would be to

A. beat up the person

B. take the person to the police post

C. take the person to the prison

D. run away for safety.

The highest point in Kaka aréa is likely to be around
A. Peyz market

B. Peke market

C. Kaka town

D. Kuta markel

The climate of the area to the west of Kaka town
can be described as

A. hot and wet

B. hot and dry

C. cool and wet

D. cool aad dry.

Which one of the following Local Authorities is in
charge of Kaka town?

A. Municipal Council

B. County Council

C. City Council

D. Urban Council.

Whaluthtdmofhbamartetfmkke
market?

A. Notth West

B. South West

C. Seuth East

D. North East.

. The two main economic activitics camad oul uunmd-

Kuta market are

A. trading and miaing

B. trading and cattie keeping
C.. wrading and manufacturing
D. trading and crop growing.

Which one of the following groups of Keqw:

communities share 2 common origin?

Samburu Samburu
Acembu Abahsyia
Pokomo Borana -

A B.
Samburu Samburu
Turkana  Abakuria
Maasai - . Iteso

o L n

9,

10.

11.

12,

16k

The empire ot‘ Mwenemutapa was mlnd by
A. a king
B. a council of elders

C. a queen mother
D. achl.ef

Below are statements about a community in Bnnern
Africa during the precolonial period.

(i) The community was ruled by hereditary kings.
(i) The community traded with thecoastal traders.
(iii) The communily practised crop growing.

The community described above is

A, the Dinka.
B. the Baganda.
C. the Chagga.
D. the Somali.

Which one of the following means of
communication was not used in traditiopal African
societies?

Smoke

B.
Iz Hom
€ D.
In taditional Kenyan society polygamy was
-accepted because

A. it was 2 way of conwrolling population growth
B. it was a way of reducing immorality

C. |twuaumyu!'contrdhn;nfenmdmm
D. it was a sign of prestige

Which one of the following, groups of countries are
found in Eastern Africal:

A. Kenya, Uganda, Angola.

B. Kenya, Rwanda. Egypt. .
C. Kenya, Somalia, Namibia, .

" D. Kenya, Tanzania, Sudan,

14.

Which one of the following is the main function of
agricultural co-operative societies in Kenya?

A. Marketing of produce for the members.

B. Buying farm implements for the members.

C. Assisting the members to leam good farming

15.

methods.
D. Building schools for the members' children.

The main prcf-blcrn facing beef farming in Kenya is
A. inadequate market
B. scarcity of water .

C. pests and diseascs’ 564 i

D. attacks by wild animals,



16, Which one¢ ol thefollowing is “the main problovi |

17.

facing sugarcane farmers jn Western Kenya?

A. Lack of land to expand their farms.

B. Lack of labour during harvesting,

C. Delayed payment for sogarcane delivered to

factories, -
D. Lack of storage facilities for sugarcane in the
factories. 3

Which one of the following Kenyan commumities is
correcily matched with its main economic activity
during the coloaial period?
Cosummnity Economic activity

A. Rendille trading

B. Ameru livestock keeping
. C. Nandi hunting

D. Abagusii crop growing

Which one of the following groups ol pe.:ple share 2

18.

19.

21,

The dlugrem below represests

common ancestor in iraditronal Apimvz..u)nnnumty?
A. Njau, his brothers, his sisters.
B. Njau, his mother, his father,
C. Njau, his wifc, his brothers.
D. Njau, his uncle, his mother.

W'hnhmol‘th:fouowmgsmemuuwwom
education in traditional Africen socicties?
A, lmrnmmdbootsaboumaxpeopkmthc

. search for land for settlement
search for
outbmk of diseases.

Which one of the following it the wain k‘uncuon of
Thiks town? It is :

A. an administrative centre

B. an agricultural centye

C. 2 market centre

D. sn industrial centrs,

the clmate of & station in

Esstessi Afiies. Use it ¢ anawer quadtion 22,

g |

300+
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Temperatures in °C
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22, Which one of the following statements correcth

describes the climate of the station?
A. Rainfall is evenly distributed throughout the

year.
B. It is hot throughout the year.
C. Rainfall is low when temperatures are high.
D. The wettest months are between November and
March. -

Drug abuse is discouraged mainly becaase it
A. leads to ili-health

B. promotes iliegal trade

C. pollutes the environment

D. encourages corruption.

Arabs came To the Kenyan coast before 1500 AD

maialy to

A. spread [slam

B. escape religious persecution
C. trade with the local people
D. explore the area.

Sﬁ]h“_!“ﬂlb&'ﬂmqﬂuﬂuﬂﬁhn

25,

27.

The irrigation project marked U was planned for
growing

A. fruits

B. onioas

C. rice

D. cotton.

The district marked Z is sparsely populated because
A. it is set aside for cattle ranching

B. it has many wild animals

C. it receives little rainfall

D. if has poor soils.

The rivers marked S and T are

A. Tana and Ewaso Nyiro

B. Nzoia and Turkwe!

C. Athi and Nyando

D. Yala and Kerio,



28.

29.

.

32.

33

35.

The government is conserving forests in the shaded

areas rharked W msialy to

A. protect indigenous species of trees
B. protect trees for their beauty

C. protect soil from erosion

D. protect habitat for wildlife.

Which one of the following statements is true about

the Rift Valley province of Kenya? )

A. Most of the inhabitants in the province arc
Cushites.

B. 'Iis provincial headquarters is Eldoret town.

C. Most of the province is covered by forests.

D. It borders two neighbouring countries,

. Which one of the following groups of commodities

did the Akamb:z traders obtzin from the coastal
traders during the nineteenth century?

A. Tvory and skins.

B. Slaves and grain.

C. Beads and cloth.

D. Glassware and gold.

European nations established colonies in Africa

during the nineteenth century in ‘order to

A. promote good relations with African leaders

B. secure markets for manufactured goods from
Europe

C. sncourage Alricans to grow cash crops

D. aobtain land to settle European refugees.

African resistance against European colonisation
failed maimly because the Africans

A. lacked modern weapons

B. were disunited

C. nad small armjes

D. had poor means of commuiznication.

Which one of the following European countries used
the policy of assimilation to administer its colonies
in Africa? 3

Thret of Wie following e results =f Busopean
colonialmkmm \frica, Which ene is got?
A. Creation of for Africans.

B. Promotion of African culture.

C. Introduction of modern health facilities.

D. Intvoduction of fhodern methods of farming.

The headquarters. of the Organisation of African
Unity (OAU) is locdied in .

A, Acra

B. Nairobi

C. Harare

D. Addis Ababa.

;

| 36. Below are statements sbour s fiver tr Afiica.

(i) It passes through a desert

(i) Its source is a-freshwater fake.
(iii) It has a delta.

(iv) Ii provides water for irrigation,
The river described above is?

A. River Volta.

B. River Tana.

C. River Nile.

D. River Limpopo.

37. Which one of the following factors explains why the
! ¥ 4
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—42. Below are statements aboul a political party formed
in Kenya during the colonial period.
{i) It was the first nationg! party 1o be formed.
(ii) 1t collaborated with the Mau Mau freedom
fighters
(iii) Itz first President was .‘lsm.s Samuel Gichuru.

The party desoribed above is

A. Kenya African National Unisn (KANU).
B. Kenya African Union (KAU). .

C. Kenya African Democratic Union (RADU).
D. Kenya Peoples' Union (KPU).

43, Three of the Following are reasons why fish farms
are Marted. Which one i3 tot?

A, To make harvesting of fish easy.
B. Tnmbi-fuumtoteoptlntypemﬁshm

C. Toprowdepopﬂcw:thpbs.
D. To prowide clean water for drinking.

44. One of the achievernents of Kwame Nkrumsh of

4B. Which oac of (.. following activities threatens the
existence of natural forests in Kenya?
A. Settling of people around the forests.
B. Destruction of trees by wild animals.
C. Collection of herbs for making medicine.
D. ‘Cutting trees for telephone poles.

47. In which one of the following months is the sun
overhesd at the Tropic of Capricorn?

A. March.
B. December,
C. June
D. September.
. 48. Kenys citizens are allowed to register as voters for
parfiamentary election when they
A. begome members of political parties
B. have completed level of education

. pasticipate in developmedi projects

D. nave attained the age of 18 years,

49. Susperted criminals arc kept in cells before being
taken to courl in order to
/. pumish them for the offences
committed
B. allow time for carrying out investigations
€. give them time (o contact their relatives
D. make them clean up the celis.

they have

r—mmwmchm following statements explains why :

farmers in the Kenya highlands grow most of the tes

in small scale farms?

A. There is a scarcity of Jand to establish large farms.

B. I is expensive 10 establish large farms.

C. There are too few labourers to' work on large
farms.

D. There are oo few factories 1o process tea [rom

large farms.

i The diasgram below shows a type of rainfall experienced in
} some parts of Kenys. Use it to answer question 51. :

52, Which one of the following is llle safest point for a
pedestrian to cross a busy rdad?

A. At ajunction. - .
B. At a bend,

C. At a footbridge. + *
D. Al a roundabout,

& -

53. A good citizen of Kenya is ane who
A. autends prayer meetings regularly
B. obeys the laws of the land
C. attends political rallies regularly
D. owns a lot of properly. /

54, Which one of the following officers is appointed by
the Public Service Commiission (PSC) of Xenya?
A. Chiefs to head locations.
B. Speaker of the Mational Assembly.
C. Headteachers of primary schools.
D. Judges of the high court.






55. Three of the following statements arc true about

57.

59,

Mount Kilimanjaro. Which one is not?
A. 1t is the highest mountain in Africa.
B. 1t is covered with snow at the top.
C. It is the source of River Tana. -
D. It is located in Tanzania.

The climate of the Congo Basin is generally
A. cold and wet thronghout the year

B. cold and dry for most of the year

C. hot and dry for maost of the year

D. hot and wet throughout the year.

Water pollution in Lake Victoria is caused maiunly by
A. plants growing in the water

B. waste from factories in the arsa

€. people bathing in the lake

D. waste from nearby homes.

. Three of the following statements are true about the

functions of the President of Kenya. Which one is
not? The President

A. chairs cabinet meerings

B. is the Chancellor of Public Universities

C. clears candidates for general elections

D. is the head of the Central Government.

The colour of the National flag of Ke.nya wlnch
represents peace is

A. white

B. green

C. black

D. red.

Which one of the [ollowing groups of security
depariments is respousible for protecting Kenya
against external aftack?

Army Police Force
Prison Wardens Prison Wardeny
7 A B.
Air Force Army
Police Force Air Force
£ DY 3

PART Il RELIGIOUS EDUCATION

61.

. SECTION A:
CHRISTIAN RELIGIOUS
EDUCATION

Which one of the following duties was given lo
Adam and Eve when God created them?

A. To obey the len commandments.

B. To offer sacrifice to God.

. To take care of other living things.

D. To obey the prophcts of God.

67.

. Who among the f

Which one of the following qualities
shown on the night the Jows left Egypt?
A. He is the creatar.

people asked God to
forgive the Israetites ut Mount Sinai?

A. Moses.

B. Joshua.

C. Miriam.

I} Aaron.

David annoyed God when he
A. killed Goliath

B. killed Uriah

C. cried over the death of Saul
D. married many women.

‘Give me the wisdom I need to rule your peoplc with
];IIICB (1 Kings 3:9). These words were spoken by
ing

Who among the following prophets ancinted Saul to
to be King of Israel?

A. Elisha.

B. Isaiah.

C. Nathaa.

D. Samuel.

The prophels of Baal were put to test by Elijah on
Mount Carmel to show that

A. God answers prayers

B. God is three in one

C. Baal was asleep

D. Baal was a coward.

When Jesus was born. the angel appeared to the
shephctds 1w
A. help them guard animals
B. tell them the good news
C. wam them about Herod
D. guide them-to Bethichem.



71.

74.

76.

‘Didn"t you know that [ had to be in my father's

honﬁ?’(!axhel&?).Whendid]umuy!hm

A.Whenh:mtomdhyhummxmthc
tempie.

B Wbenlaen:huodﬂ:etradmﬁ'omuxtemplc

C. During his baptism by John.

D. During his trial before the High Priest.
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Which one of the following is the main reason why
Jesus mixed with ainners?

A. He came from a poor family,

B. Smners were hated by other people.

C. He came 10 save all people.

D. Smners were friendly 1o him.

Which one of the following actions of Mary and
Martha best shows their love for their brother
Lazarus?

A_ Siaying with. the moursers.

B. Showing Jesus Lazarus’ grave.

C. Welcoming Jesus to their home.

D. Informing ~=sus about Lazarus' sickness.

“This is my body, which is given for you.’ (Luke

22:19). These words were said by Jesus during the

A. last supper

B. trial before Pilate

C. crucfixion on the cross
D. ascension into heaven.

Who among the following people helped Jesus to
carry the cross?

A. Joseph of Arimathea.

B. Simou of Cyrene,

C. Peter.

D. Nicodemus.

On the day of Pentecost the Holy Spirit came down
in the form of

A. acloud

B. adove

C. fire -

D. waler.

Who among the following pecple was the first
Christian 1o be killed because of his faith?

A Philip.
B g

C.: James.

D. Stephen.

_80. Which onc_of the following beliefs about God i

81.

82.

8s.

found in both Christianity and traditional Africar
comumunities?

A. God became man.

B. God raises the dead.

C. God is everywhere:.

D. God is three in one.

Which one of the following acts were performed by
elders in traditional African communities during
worship?

A. Sacrificing animals.

B. Reciting the creed.

C. Baptising members.

D. Serving the Holy Communion.

Which one of the following is the best reason wh
people in traditional African communities wert
expected to rmiarry?

A. To be respected.

B. To have a partner.

C. To get children.

D. To be accepted.

In tradittonal African communities ancestors were
respected mainly because they

A. appeared o the living in a dream

B. united the living and the dead

C. reminded peaple of the past

D. were the dead relatives,

Who among the (ollowing people is found in
Christianily and traditional African communities?
A. Herbaliat.

B. Rainmaker.

C. Diviner.

D. Propher.

According to Christian teaching the greatest fruit of
the Holy Spirit is

A. joy -

B. love

C. hope

D. faith

Sarah is senl to buy a kilogram of sugar. The
shopkeeper gives her more change. As a Christian,
Sarah should

A, return it to the shopkeeper

B. keep guict about il

C. usc it to buy swects

D. take it home.

Your deskmate Simon, has told you that he is
sulTering from AIDS. As a Christian, which one of
the following is the best action to take”

A. Report the matter (o the cluss weacher.

E. Change your sitting place.

C. Advise him to seek medical help.

D. Inform your classmates aboul it.



88. Peter, who is 2 rich man is thinking of how to use |

his extra money. As a Christian, what advice would
you give him?

A. Go for trips abroad.

B. Pay school fees for orphans.

C. Build 2 bigger house for his family.

D. Buy a farm for his family.

89. Jane, a standard eight pupil has been asked by her
class teacher’ to go to school on the day of worship.
As a Christian, the best advice you would give Jane

4]

A. obey the class teacher

B. talk to the church leader
C. transfer to another school
D. po to church.

Of). Which one of the following was the work of the
carly Christian missionaries in Kenya?
A. Building schoois.
B. Appointing local rulers.
C. Setting boundaries for colonies,
D. Building the railway.

SECTION B:
ISLAMIC RELIGIOUS EDUCATION

61. Which one of the following surak has Bismillahi-
Rakmani-Rahim a3 parl of its verses? Surah
A, Asr
B. Nasr
C. Fatiha
D. fgra.

62, The Messenger of Aliah said, “The siwak is a purifier
of the mouth, a pleasing matter to the Lord.” [An-
nisai and Tirmithi] On which one of the following
occasions is it most appropriale 1o use the simak? At
the time of :

A. reciting the Quran
B. going o slecp

C. taking a bath

D. visiting friends.

63, According to the teachings of Surah Xauthar the best
that a Muslim can do in order to be famous after
his/her death is 10
A. have children who will make his name famous
B. make sacrifices for the welfare of his people
C. collect weaith to gain fame
D. use his influence o become famous.

64, On his way 1o school Juma was licked by an animal. -
He was then advised by his Islamic Religious
Education teacher to wash his uniform with water
seven times. Which one of the following animals
licked Juma? i .

A. Horse.
B. Cat

C. Dog.

D. Donkey.

67.

68.

Muslims perform Hagj mately because x
A. leads to Musiim brotherhood

Jdbmhpafmedhmmeilh
A. a reminder of Muslim prayer time
B. part of the prayer

- C. a mosque routing

70.

D. a way of uniting Muslims,

Asma’s father is arranging for the celebration of 7dd-
ul-Adhaa. His children have suggested the following
activites:

(i) slaughtering of an animal

(i1} organising a family lunch

(iii) taking the famly to a cinema

{iv) visiting the sick and neady

Copy







— 73'_

75'

76.

Igemaly i mads dilring prayer time in order to
A, remind the believers to renew their wudhu
B nthcbd:wmmbemadyforpuyet

Who among the following standard sin pupils made

the correct obeervation about the Ka'ebal

A. Naow: The Kuaba was first built by Prophet
Mukammtad ($.AW).

B. i.m; It was destroyed by Abmie s-ound 70

C. Gidaw: It is a place where Aliah lives.
D. Kathaf: K was st built by Prophet Ibrahim
{A.S).

The term iawhezd mesns the
ity of God
power of God

. attributes of God
correct worship of Ged.

Somp

The Surak which teaches on the night of power is
A. Ad-Nasr

B. Al-Qadar

C. Al-Zizala

D. Al-Alag.

Whe awong the following Prophets of Allah built
an ark named “7/ma? Prophet

- .A. Daud

81.

B. Issa
C. Nuh
D. Adam.

The bes? way 1o aitract psople to Islam is by
A, giving {stamic books to non-Muslims

B. inviting noo-Muslims tc the mosque

C. welcoming non-Muslims io Muslim homes
D. Mus'imas fiving good [ives to be emulated.

Which one of the following sets of practices are

Stomah gois?

A, Atending Iddprayers and fasting.

B, Performing the daily pajyers and going for Hajy. -

C. Performing taraweili prayers and fasting on
Mondays.

D, Surcbm; for hxowbdge and giving Zakat,

Which of the foﬂawln;—pnaicnisforbiddmin
Suwalk Mot

A. Slappdesiag other people. '

B. Oppreaswg the weak members of society.

C. Showing oi-of wealth.

D. Abusing other people for their faith:

|82, On which one of the following occasions is it mos

desirable to perform ablution? When
A, receiving gifts

B. visiting the sick

C. going to bed

D. paying Zakat,

Thmw?oMarmthesheepuntxlmrmbestht
of
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Which one of the following Islamic Religious
Education areas of learning helps to guide believers
to the best way of performing Salah? .
A. Mucmalal. i

B. Quaran,

C. Figh.

D. Fadith.

Which one of the following statements is the correc’
Islamic tradition for maintaining cleanliness?

A. Wearing of carrings by mer and women.

B. Shaving and plucking of armpits.

C. Changing the colour of the hair.

* D. Keeping of nails and hair.

90. Mmdthfeﬂowmgmdohﬂmsﬁann
done last?

A. Tawaful-widaa.
B. Visiting Arafat.
C. Saayi

D: Tawqﬁd{faﬂla

The maio regson why Prophet Muhamad meditated
in the caye Hira was because he was

A. keeping away from the vices of his people

B. ordered to do so by Allah

C. hiding to worship Allah secretly

D. searching for the truth from Allah.

The following events are about the hlstary

Mombasa in the 16th Century:

(1) the people were af war with Malindi

(ii) the Portugucse controtled the Indian Ocean
trade

(i) the planhlicms of the izland were bumnt by the
Portuguess

(iv) the Wazimba ceided the inhabitants of
Mombasa, -

Which one of the following pairs of events most
affected the ‘economic life of Mombasa?

A. (i) and {iil)
B. (i) and (iif)
C. (i) and (iv)
D. {i)and {iv).

Which oae of the Tallowing sniinals are considercd
to be pure even when dead?
A, Snakes,

§
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